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MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST

Time = Part - [ ' 00 Minutes Max, Marks - 90
Tirme ¢ Frart - T1 ; S} Minutes Max, Marks @ 90

Instructions to the Candidates

Read the following instruetions carefully before you answer the guestions. Answers arg o e
SHAI IR on B SEPARA TEgivenOME Ahswer Sheet with 2 Black Ball Peint Fen. Bead the
Instructions printed-on The (MU Sheet carefullyhelore answering the gquestions.

1.

%

_n

Plesse write vour Cenire Code No. and Rell Mo. very clearly (unly one digitin ons klack)
o the (WA Sheet iy given in vour wdindssion card, Please see that no Block is leftunfilled
and rven ZeTos appeating in the Centre Code Mo, are comaetly iransfermsd 10 1he approprizte
Blecks on the (MR Sheet as showi in the example given in the OMR Sheet. For all
sulisequent purposes, your Coentre Code Mo, and Boell No. shall remuin the same as 2iven
on the Adrmission Card.

L he Test is in '[WE Paits. Part=T consists of 90 questions and Part-11 also consists of
a0 questivns.

Al questions in Part-1 and Pan-11 cacry ome mark cach,

Since all questions are compulsory. da not try Lo read (htough the whale q IS IH PTED
befure beginning to answer i,

Liegin with e ticst quastion and keep trying one question after anotber Ul you finish both
Lthe Farls.

|_ V- 1_1 ﬁ: | antd...
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f,

Ivou do not know the answerto any suestion, do not spend mueh tims on itand pass on e
next oiie. IFtime penmits, you can come back 1o the questions which you hive left oot in
the first instance aod try tenr agaio.

Since the time allolted w 1he two parts ol this question paper is very lunited. you should
make the best uze of ity nol spending ton nouch Gme o ANy question.

A blank page i3 provided for rough waork at the end of each part.
Remember, you have to shade answers on a separate DM sheed provided,

Answer to cach question is to be indicuted by SHADING the circle having the number
of 1he correct alternative in the OMR Sheet from among the ones given for the
correspanding question in the booklet.

Mow turn to the next page and start answoering the questions.
Alier the examinaticn, vou should band over the OMR Sheet to the Invigilator of the room.

The candidate need not return this Question Paper Booklet and can 1ake it after the
eompletion of the examination. No candidate should leave (he examination hall
before the end of the examinaticn,

This Booklefconsists of 31 Pages-for, 130 Questions + 03 Fagey of Rough Work +

02X Title Bages ice. Total 36 Pages
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Part - I : MENTAL ABILITY TEST

Time : 90 Minudes

C

blax. Blarks : 90

Nopte : STIADE the correct alternatives in the OME Answer Sheel provided from amongst (b
ones given against the comesponding questions in the Question Faper Fooklot, For shaclug
the circles, use a Black Ball Point Fen.

Directions: Queslions (1 to 1)

In these questivas. there are equations that have become wrong duv t incorrect order o signs.
Fron the four allematives given below, find oot the correct order of signs. Sothat Lhe equations

hecome cormedt.

1. 95x24=4-1

(1) =1, (2 —o%i- (3} +=- ) =t
I, R+0=9-%1

(I -.=t {2] + -+ (3) W (4} A+ -
i, 40+ IE=53=3

(1] g=nd, + (2} +.+g= {3} =%~ (41 =+ -
5 TR 4 NET '

LII} S {.2:] M T [3‘} = 1.t [4} +. -
5 =5 713

ty —+.= 2} 4.+ (3 = T P—
. 12-B+6=370

{h) === = BN (3) +-.= {41 -+ =
T, Mmli+14+7:3

1y .= (2] ==t (3 = +.— (4y =, », +
i W4-4-76+ 1

(1 .=+ (2} =+ == i3 =, t, (47 —+.+
O S -5+ 3274000

(1y =.=.- (2] -+t {3y === Ay + 1"

V-116
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0 W+3+9-3
iy -+ - {23 — o+ {3} +x {4y — =

CHrestions: Duestions {11 oo 20):
In each of the lollowing questions. 4 set of figures camying cerain vharacters is given, Assuming
Lhal the eharacters incach set Tollow a similar pattern. find the missing chargter in each case.

YO @ ¢

0 iE)

(3y 20 (4} 25
12. 'I|II|'l 'lllll'}
(1} (y 13 (3} (41 19
13 I 2 |1: .
(| i esu AN
4 g 2]
1y &2 () 44 f3) 46 (4} 48
[4 42 144 | 38
23| 55| Ak
37| 7 | Av
{1 22 (2} 33 (3} g {41 77
5.
%N 30 NS
3 1
17 27 {21 25 {31 =4 (d) G4

4-C V-116
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] £
“ XX
Aah,

Wi/

(11 190 iy 221 {31 224 {41 253%
17, 7]

]339'&;

27

{1y 33 (2} 41 (3] 243 4] 42
"3

f1y 10 {2) 12 {3 13 14y 1%
L9, Ind - | 33

W 1% 9 T

N 1 (2y 21 (3} ol (4} ¥
My, 5L 1] | Al

{assResult.n

Directions: Questions (21 to 20}
The following questions are based oo simple aritiinetic caleulaions, There are four altematives
given under cach question. Afler identifying the right answer, indicate itas pur Instructions.

21, 47638+ 635 4123 =7

i1 44418 2y d144% (3y 44158 (47 44143
22 ROTRS 3 -Ad5 - 1243+ 63 =7

(1} B9743 {21 &TY43 {31 HTE43 (4 BIT43
21 If x u"ﬁ “ .
&, — = =y

8 1211

i) o8 (2) 4% (3) 14 {4 24
2. |52.435 - 4205 — 947,52 ="

(1] T09.d55 {21 TOR455 {3 T19455 (41 718,455

. V-116
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- 43" -3a%
) 43 =34

(11 &7 121 %7 (3 77 {41 107
2. 007 - 000008 =7

{1y 00063 (2} 0000063 (3] Q0000063 {4)  0.0000063
LN Y PE S v, S, L

L (2} 10 (33 09 (4} 129
28, S12+(4=08)=7

(1) 6.4 {21 164 {31 14 (41 128

-TI:: L l:':l.:
2 L
24, 3

{11 13 (2p 1 (3} 169 (41 LT
003N 1=244 %=

oy 3 (2y 4 (3y 3 (4} 2

Directions: Questions (31 toH}

In 2ach ofthedollowin(ueshionsdhare are 2 ecnzincelationship bepueen two given wonds un
ane side ol - and one word is given oo the another side of ;- while another werd is (o be Lound
from lhe given 4 alternatives, having the same relation with this word as the words of the given
pair. Choose the correct alternaleves,

3.

33,

Crbcleet © Foans - ; Fool ball @ "
il] Foints (2y  Goals (i) Penalwy

(4}

Left front

Slate ; Slaie Peneil @ : Book -9
(1} Pen {21 [ubber {31 Scale

Bone : Skelwon - ; Blood -

i1y Eye {2y Lar {3} Moo

Hospital : Doctor @ 2 Schoal 0%
(17 Lesson (2} Teacher f3 Black Board

6-C

(4}

(4}

(4]

Blationaty

Skin

Book

V-116
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35, Louvk-Key::Chair 27

{11 Cup {21 WGlass {3 Plale {41 Table
36, Cirele ' Circumlerence @ Square ;7

{1y Petimeter {2y Arca {3y Side (4} Lengh
37, Video : Casserte @ Compuater @7

{1 Reul {21 Recording {31 Files 4] TFloppy
38, Thermomeler : Temperatures ; - Hyprometer: 7

(1} Tressure (23 Humdiry (3% Density (4} Relative Depsity
1%, Bus; Dever:: Aecoplang @7

{l) Pilo {21 Whecler (31 Walcher (4] Mone
40, Japoere : Sweer:  Chilli ¥

1y Sour (2y  Sult (3r blot (4} Biter

Directions: Questions (41 to 50}
[n these questions a figure (X) is given witl three parts and fourth with “* mark. Find the fourth
pari lvon the adjacent purss to complets the figure,

41
IV % (V2 ¥
(] { 3] {3}
(1) 2 (3) 3 (4} 4
42,
5| B v P
i1 (2} (3 (4]
{27 2 {31 3 (4 4
43
M KW A
(n (2 (3 14
(1 2y 2 (3t 3 4) 4

. V-116
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14. =L~
— L7 | #1 -
~ |
= 7 KB &
{A) (L) {Z} {3} (4)
{2] 2 {3 idy 4
45,
{1} {2} {3} {4]
{2} 2 {3 (4y 4
15, =
5] 3 A
{X] (1 (2} (3] (41
{1 (2} 2 {3 3 {4y 4

"[ClassBesult.in

{X] (3 (4
Ly (2p 2 (3 3 () 4
18, [’,L_fx\ ,
NE ' s T
Ll*ij () (2) (3 (4)
(1 2y 2 33 3 (4] 4
449, .
) <
1X) (1) (2) (3) (4
i1 2y 2 3y 3 (4) 4

§-C
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505 {::;l%

a k] LA
® o | R [ )i |
(X) {0 (¥ {31 4}
{1y 1 {21 2 {31 3 4y 4

[Mrections: Questions (51 to 60

It each preblem, oot of the four figures marked (17, (2%, {¥}and (4) three are similar io & certain
manner. However, oie figuras is ool like the other three, Choose the figure which is differcnt
from the resl,

i viisiks:

(o 2) (3 {4)
{1y 1 (2) 2 (3 3 (4) 4

al.

{1y | (2) 2 3) 3 @ 4

Te P

i (2) 2 (31 3 @) 4

§-C V-116
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(1 'y i3 (41
{1y 1 (1) 2 (31 3 (4] 4
56,
l ——— I b —
(1} (2} (3] 1)
(1y 1 (1) 2 (3 3 {41 4
5T, N
x.. | /I'\+ |
[l (23 {3) (4)
(1) 1 2 2 {1 3 {4y 4
e,
x sult.Iin
{1 2} 2 {3y 3 (dy 4
IAIFIZIE
{1 {1} {3] {d}
{1 {21 2 {3} 3 4y 4
61, LP — I
(1) (2] (3] {4]
(1F 1 2y 2 (31 3 (4} 4
Y-116

-




NMMS{E) C

Direetinns: Questions (61 to 7): _ ..
[ri the given {ive alternative (13, (20 (33 {4k {3} figures, which three can make a squars- B ind.

“DU ;D

(3}
2.4, 5 {3 L.2.3 4] 2,3.4
(27 {3} (4} t-‘i}
(1] 1.2, 4 {EJ 3 [3' 41 1,35
3, Q 4 j
i1} {2] {3 (5
17 1.2, 4 {2} L.} 5 3} Z2. 54 2,45
@Ia&ssﬂescultbm
()
(1,2, 3 1.2, 4 {3+ 1,35 1,4, 5
G,
» D |7 PN D
L) (4] {5
1y 1.3, 4 {Ej 4.5 (3} 2,34 [4} 1,3.5
&b,
y o g & D
RN (2} (3} (4} {a}
(1y 1,35 (2 1.2.3 {3 1,45 (41 23,4

e V116
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B2y T

(1 (5)
23 2,34 3 .45
h ? ﬁ ‘:i Y? :: >
(10 (e
(v 123 [1} 1,3,4 (3} 1,3.4 235
6. [] j -
() 2) ) 4)
iy 1,23 1,3 4 (3 1,33 3,45
(1) 2) (@)
il 1,2,3 D3, [3rLE, 4 B na. 5

L¥irectionss Qﬁﬂlﬂﬂﬁ?l toBl:
Fach of the [ollowing questions consist of nwo sats ol figures. Figure A, B, Cand D constiaiethe
Problem set while lipures 1,2, 3 and 4 constitule the Answor Sel Therc is 2 definite relativnship
perween Fioures Aund B. Ealuhhsh a similur relationship between figures ¢ and D by selecting
Smlahh fipure feom the Answer Set that would replace the guostion imark (*yin figure. ([}

Frublem Fignoes:

. Ol )\ a’;ﬂ' :

L0y

BE e Flgurl..a::

| i A |
B

(L) (2 i) 41
{1 1 22 {2y 3 (4 4

12.¢ V-116
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73 Mrublem Fipurss

¥ ¥

':'_'-i {q :

{A) (13) (L (13}

Answer Florures:

™| K L g.‘

-

iy @03
(1 2y {3y 3 {4 4

25 Prablom Fuzunes: .

WARARE
o )

(A ey (il {Mm

Angwer Figures:

fem Mo,y =

aSS‘?e{ﬁult.m

T4, Problem Figures:

""’ Cl &) 2

1A i i (L

Anawer Franics:

Misilall®

11} (2 {3 (k]

y 3 {4) 4

ak

(b1 (1) 2 (

Y-116
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5. Problem F AL

l'} ‘

E
Y,

Answr Figurss:

=<1 (|
{L} W

L)

S|1=

i

L 23
(1) 1 {21 2 (3} 3 (4 4
76. Protlem Frgures:
bl |
Y (B} (2] (L)
Angwar Figunes:
Ll esult.in
(ly 1 {2y 2 {3) 1 4y 4
T Froblem Figurss:
T s Ty
o A -2 ?
I. o - ll.:- b | T L ’
LA {B) i) {0}
Angvwor Figures:
- — f— [
W el v a
—w o— | —2 B— | © o— | —3 D=
(L (2] [3) (4]
{11 1 2y 2 (3 3 {4} 4

14-C

V-116 |
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F"ﬁ FI"L'IblE:'I‘. l‘llgu'n_l:;:

=0 7

{4 (i’ < (¥

Answer Flgunes:

EBER

(17 i21 13 i

{1y 1 {2y 2 (3 3 4y 4

9. Prablem Figures:

— —a—}c\ 7

Ay D T D

Anisvier Figures:

esult.in

(1 12) 2 {3y 3 (47 4

B, Problem Fipures:

TaTy| e ‘EDE "
'-_-I"'L.-' [._.-'.i.- _,'-I-’ .

&} 1By 1} {I¥

Anawer Fipures:

(93|38 | 30 [Ea3

il (2 (31 (43

(1 1 {2y 2 313 (4) 4

15-C V-116
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Pirections: Questions (81 to 30}

In the number series given below, one number is missing Cach scries is followed by foue
allermatives (17, (27, (5} (4. One of thein s the right answer. Indicate it as per the instractions.

A, 28.33.31,36,_ 7 .
(1y 32 (21 34 {3y 38 (dy H

a2 123 wth 45,30, %
(a3 5 (2y & (3} 10 (41 12

53, 325 250,204, 160, 127,105, _ 2
(1} 94 (3 96 (3} 98 (4] 100

4, 240, % 120,40, 10,2
(180 (2y 244 (3} 420 {41 480

g5, 27,27, W07, 4, _ Y
(1) 1262 {2y 1707 {3}y 4027 (dy 4207

— =

86, 45,54, 47, S| dBS60A), FPe68
{1y 98 {2] 50 (355 (4y Mone

87, 66,36, 18T
(3 {2) 6 {31 & CI

AR 200201416 07,13, 14001, Y L T

(ry 10 (2 1011 {3y 13,14 4y 15 16

§4, 1,9,25.49, 81, 7
{17 104 f2: 112 {3y 121 {471 125

9B, &, 428,59, 7
(11 (2) 113 (3) 114 (41 1

4]
4]

16-C y-116
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SPFACE FOR ROUCGH WORK

ClassResult.In

V-116
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SPACE FOR ROUGH WORK

ClassResult.In

18-C
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Part - II : SCHOLASTIC APTITUDE TEST
Time : M) Minutes Max. Marks : 90

Nodte !
1y Subject, Cuestion No, and Marks alloted:

L1, Ma. | Subject Question MNo. | Marks ]
i, Physics o1 to 12 " 12
2, | Chemisity _ 103 o 113 11
_3. Biology |.|_4 to 125 - 12
_4 . Mathematics IIE’rEa 145 B 20 — I
i 3 Flistory 146 10 135 T 10
i - (cography IEEI 1::}_ 163 - I =
e T'olitigal Suitr;-:&_ - 166 1o 175 !_'I}
B ]:';E'Iﬂﬂ}mllfi L76 to 180 {5

i1 SHADE the circle having the ¢orrecr alternatives in the OME answer Sheet provided,
[ruam amuomest the ooes given against the corresponding questicns in the Cuestion Paper
[ooklet. For shading the gireles. use a Black Ball Poiot Pen.

]9_{: “r"‘l]ﬁ




NMMS(E)

PHYS&SICS
1. Which ol the following is incotrecl i the gasce of triction
(1}  Frictienal force is dependent of the area uf contact
(2} Friction iz proporticnal to the nermal foree
(33 Friction opposes the refative motion bebwoen two surfaces in contict
{41 Friction depends upon the surfaces which are in contgct
42, Il the incident ray incident perpendicularly to Lhe plane, then the angle of reflection.
{1 90
(2} L8O
(3 0"
(4 A5 '
CER
Letiside P.ight side
bl ol the car i which diceclion
(§)  toswardsrighl {21 towards lefl
{31 upess (4T coar won' | imove
. Mirrors which torm only virtual mmages
i1} plane nrnor, conyex mimer
() concave murcor, plane murar
(3% convex Mo, COncaye mims
(47 only concave mirror
35, The liquid used io six maxinum, minimum thermomster is
(ar  Water (k) Mercury i)  Aleohol (dy Air
(1] aandl (2) bhandg {3y candd (4} aunddl

e V-116
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6. 5°Cice is healed vpto it become vapour

I Fthe ohservations are plotted in the given below groph. Which purts of the graph represents
the process of melting and boiling respectively.

(1) AR "
% Tl p e
(2y BC, DU 4
i3y CD.DE P s -
T
{4y Moneofthe above 1 3

7. X Velocity ofu Bus i3 72 kmehe
Vo Welocity of o Car s 45 s
2 A NVan teavelled 60 km i 4 minutes
1F X is the velocity of Fus, Y is velocily of Car, 7 is velocily of Yan.
f1y K=%-'Z4 {2} K=¥<4 {31 X=y=i (41 K2¥> £

9%, Mulchthe following,
1} [(Motion ofdladesed neeidimng fan a) oetarsil]abory o ion
i oo o ayarecee fromoa e b} . Botatom molion
Gt Motion ofthe carth aroutd the san ©) - Translutory motion
iv]  MWotion ol the neediz in the ) Tramslatory and rotatony melion
clothes stitchmg machine
iy i-a =k W= iv-d
{23 h-a  iiee  dii-b iv-d
{37 i-b u-e¢ dli-d mwea
(4) i-b  Wea dii-d ivec

3 Assartion (4] Flevrric hulbs inour hooses are connected in pavallel.

Reason (R Bulbs plow briphler when they are connected in parallel,

£1y Boalh {AYand (R) e covreet {2) DBoth (A)and (R} ere meorred
{30 {A) 12 eoresst, (1415 Incorrect {41 (4] 15 incorrect, (R) is correc
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100, barch the following.

1) Humidity al R gauge

i1y Rainfall bl Six maximum, tinmum thermemeter
Liny  Wind spacd ¢y Hydrometer

i) Tcmperaturs g Anemometet

(Iy i-a di-k  di-d iv-e
{2y i-¢ fi-b  ii-a iv-d
{3 y-¢ li-a wi-d iv-b
(4y i-d  ii-¢  dii-b iv-z

101, X, % arc 1he objects having same si7: and made with same material. Anal of | kgon X and
a serew of 1 kg on 'Y are placed on which object the pressure is more

(1Y oM 'I._l.:.f.!l
{21 Y ‘
{3} cgual pressure on XX and Y

(4} data isinsuiTicicot

Vibrations of hack-saw blades

X is the pitch of the sound produced by the hack-saw hlade of 20 cm. in
Y is e piteh of the sound produced by the hack-saw blade of 5 cm in.
{1y X=Y

{21 H<Y

(3} X=Y¥

{4} Pitch does not depend upon the lengrh of the hack-saw bladus,

e V-116
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CHEMISTRY

103, P Thermoplastics soften when heated,
(3« Thermosetting plastics which moulded vnce cun’| be softened by heming,

(1} P i3 ¢orvoct, 4215 incorrect (21 Pamd Crare indurrect
(3y  Fis incorrect, O i cornect {47 P umel O ave coprect
16, Amranpe the metals copper. ivon, Zin in descending, order awcurding fo their el ity
(11 Zine. [ron, Copper {2y lron, Zing, Copper
(3} Coppet, Zine. Inon {41 Zine, Copper, Iron

1053, Identify Lhe weong slalemeant.
{17 The misture of aluminum and copper i uzsed inthe preparation of ¢oing.
(7} The mixtore of gold and copper is used inthe preparalion of Jewelkery.
(3} Themixture of iron and carbon is used in the preparation of steel
(4} The mixture of aluminium and carbon is used in the preparation of statues.

106, By sprinkling small quantities of in water will prevent browning of vegetables
atter cutting,.
4y Vinegar by Lemonduice ) Ascorbicacid ) Mitris acid
{1y a.b.¢ (2} bh,eod (31 a.c.d (4] a.,b.d

107, Mateh the follewing,

1] A al  Wush

RN h) Sbileach
iy = &) Iran
i) ﬁs ¢y Tho oot Biesch

(1) i-a -k Gli-c wed
(2% i-b iew diiea ived
(B i-b e dli-d o v-u
(4 1.1 di-b Qii-d iv-c

|%. Choose the correc] stalemenls among (e following,
al  The gus we use in Kitehen is inthe foern ol liquid in the cylinder. When I e sl
from the evlinder, it becomes o ga<. This is o clerical change.
b)  The buming ol gas come [tom the eylinder i a chuiieal change,
) Facteria digest animal waste and produce biogas. Thisis a physicul chmige.
A1 Thebiogas bumtas a fuel is o chemical chang:.
() abd (M oabe (31 by 4y ac,d

- V-116
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0%, For acidity problem doctors prescribe anlacid drugs which cenlain

al  Magnesiwm hydroxide EY Sodilm acetate
£y Minegar &) Alumiiwn by
i1y aandhb i2% bande (3% candd (4t anndd
118, Amonyg the following which cannotbe reeyeled
(11 PET P21 1Pk (3 PN {4y LDOFPE
111, Matchibe following.
i1 Removiog of grease, oil stains i Alumininn levdroxide
i1 Fire extinguisher B Oxalic peid
i1y Remowval of ink slains o) Ammonium hydeoxide
i) Coldeinks dl Corbooic 2cid
(i 1-u w-h  dil-¢ iv-d
(2) i-b  di-a  dii-a awaev
(3p 1-¢ ji-a ii-bh  iv-d
(4F i-a m-b  i-d iv-g
112, Muthyl ocungs | Fhenolpbibalsin Tunmerie solulien |
" Lemon Juice red colourless 7 _
Dietergent soup waler yellow Y [ed
st led water X calourless velloa

L3

The &olours X, ¥2 e
(1} Cred, golodrless, red
(33 yellow, pink, yellow

f2)  welloow, coloarless. piik
{4y red, pink. red

| lime waler

a3 lime water tarned millky white, The milky white sibstance

Thie torelease of
conlains

(17 oogvgen, culsium oxide
{11 Carbon dioxide, caleium carbonate

12y Hydeopen, caleium carbonats
fdy  Chvgen, calciom carbonule

V-116
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BIOLOGY

The piven organism in the above picture is atype of
(1) Bacteriom {21 T'rotusos {3y Fungus (41 Algee

115, [f 7xvpoledenntes ()

Seed denoes ‘&’
Wew plants denoies [
Tdentify the seguential vrler of formiation.

i f@ (2) @'_\m (3} gé_,{g (47
| )

Li6, Which af the following planl produces new plant from the epiphyllos huds {Leat huds,

(11 Lilly (2} Lrahlia {31 Strawhermy {41 Bignomio
117, klaieh the folloaing.

i _Adilchs 4y Fungus

ii10 Puribiganitmyo el nazewiter b Lt

il Hapness ¢ T Hilusloria

i Parasilic plam e sl

v Cercospotd ¢} DBarscrcen

(1% i-d di-e L iv-hoow
(2 jec dieb di-d v ea oW
iYi i-a di-¢  dil-b ved wv-
(1 i-d  diee  dii-b o odv-co W
11%. Identify the correct statements foom the following.

a1 Guseous exchangs in plants ¢eeurs only thecugh slamats.
b1 Ingectivorons plants grow only in Nitrogen deficlent soils.
(1] wistrue

b i also troe
(¥)  aisfale

b 1s frag
{3 wistrue

his fulae
(34} aiz false

b 15 ulso falsc

_— V-116
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115,

1210,

i*al iz

(13 atype ofsilk available in Northern India
(2} alvpeof silk available m Western Iodia
(31 alvpeofsilk available in Eastern India
{11 atvpe of silk available in Soatherm Tndi

Ihis cell orgnmelle can be recogniscd by using Moihylene blue solution.
(1} Mucleolos {21 Cellwull i3 Nuclous {4y Cytoplusin

. During the confirmation of presence of food companents, Jack violel coloured substance

s formed wher it is trzated with copper sulphate solution, This determines the presence
of this compound

(13 Fats {2] Carbohydrates {3) Prot2ins {41 Witamins
. Whirh ot the following bases 15 used as a firc cxtingisher”
i1 Allominium hydroxide (2} Amnienium hydroxide
(31 Caleivn hvdroxides (43 Potussivm hvdroxide
3. Muteh ths following,
ip Tieand Dve ab  Emotions
iy Bacillus iburingiensis by Scabies
i) _Jdap swammerdat ey Jamadind
Wl Aalriclin diemObsepvaliab-and gdeggription ol miced
OLEANLEINS
vio Bl ArTecpods e Birpesticide
{11 1-4d ii-¢ 1i-bB iv-a w-C
(21 j-c  dlee  di-d wvea veb
{3y i-c  GH-d wWi-g w-a v-b
fdh -4 ii-c  ili-a iv-e wv-h

124, Amcunt of sular energy utilised for purpuses of Global heat, evaporation of water on the

123,

eaeth
(1} 35% {21 B% {3) B0.B3% {41 S0

YWhich of the followine statements 33 incorrect?

{13 RedFuox, Lion are the endangercd species in India,

(2] The Neccan wingless grasshopper is scen only w1 the Fabi season.

(31 Menstrual evele in woman stops at the age of45-50.

(4} Louis Pasteur distoverad the controlling measures For micrebial diseases cuused 1o
the Silk ouh.

26-C \"r'll.'ﬁ
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MATHEMATICS
126, Euch side of o trivngle is increased by 180 e, 3t the ratio of the perimetens of the now
trianiele and the given trinngle is 5.4, the perimeter of the given Irangle
{1y bl em 2y 120 em {3y 100 e (43 S0cm
o R
12—
I"J B s
] 3 X 1 3
N E : il 4] =
(1) ” Y g (3] : { 7
- 0,83 < (1105 +0.024 - 403)
o \.} PAZx0252]1.7
(Y1l (2p 1 (33N CORRTAY
179, The tatio of the present ages of two brothers is 12 and & years back the ratio wag 123, what
will be the ratio of their ages after 3 yeurs
t1y 13 {21 23 {3y 35 (dy 3.6
134, A singe discount equivalent to lwo siecessive discounls of 20% and 3% is
{1 25% (e p o235 [ Ao B0 8, 2%
151, Twonibers deand Besrs Sueh that (el 3%a0l Aand 450k B 15 lwe-third of the sum
ol 6% of & and 8% of B, the rativ ot ACB s
{11 2:3 {21 1l {3 34 iy 43
oy 2y
132, 1f »A Lo —2 b ¥ -y =
(1t 0 {21 -1 (3) 2 (4} 250
153 T the adiuvent figure ABCD 15 a square of side § emoond FM L AB, the length of M =

(11 55 um L, i

21 65 um

(3 445 em
_ M, b £
(41 T3 cm
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1 34.

135

T TR
Wip-c) {c-a) (a5} hen Par + Qb+ Rez =

(1 Prri {21 x—yt:z (3y @+h-c 4y O

Sratement {A): (1024)74 =16

Giaternent (By: (1637 = 32

{17 Buoth the stalements (&% and (B) are vortect
(2} Both the stalemenls i &) and (B} are incorpect
{31 (A} is correcl, {13 is incorrect

{4y (A) iz ineorrect. {H) is cotrect

136

Fx= (1) (=17 +t (-1} and

po (- () e s

{1y 2019 (2 28 (3 O {41 1014
b
137 (2 e L ey SETIZP,
b ¥ g obh+89y+2q
1y 2 2y = i3 £ (41 Al of these
L ‘ ¥ Iy
138 Tt om0 | whereg and s are positiyednlegers i 7 = 1, hen whigh of the fullovingis

fure’) correst?

1] o~ 4
LS.
My a=b

11y Eitherlorlll  {2) Either L orlll  (3) Eitherlarll {4} 1 only

139,

1ind Lhe total cost ol Tevelling the shaded path ol uniform width 2 m bl i the rectangul;r
field shovett below, ifthe rate per m? is ¥ 100

(1p ¥ 12600 (27 T 10204 (3y T 13000 {47 T 1200

- V-116




NMMS(E) C

" - . .- . C2x-5 3x+43,
14, Which of the follrwing is a selationof —— = ’
e

4
{1 x=-= {21 x=-2
{31 Thoth{Lrand (2) (dy neitber {1} not {2}
141 The wean of a. # and ¢ is same as the wean of &, 2c and J then which of the following 13
cofeaet”
{1y a=b=¢ {21 b=pc=4d {3y b=r {3}y a—=c+&
Yo T -
142 o= 0o T2 g T o hen s =
K 4 5
{1 2 {21 4 13y 3 {dy 3
b J
Al s
143, Thevalueof 35 + 87 =
{11 512 (21 321 {31 115 {41 213

= , OB Rl - y=f ==
144 Thé Tolictvingare thestepyinyolved in)finding thexulue: of et ] fa*" - ] {ﬂ”‘]
Arrangethen insequential order

) I:r[J:—_:.-:I:'.:r _'|-]-ﬂ|__1'—:]-l;_p— a':lal::+:l: Hr-x}

B -1

S g

J3 .-:."T:_}:_I-I_:i”: 2

(1 wdcb (2) a.cbd (3% acdb (41 a,d. b

145. The values ot x, ¥ and 2 in the adjacent diagram
(1) x— BE®, =077, z=92°
{2) x=92° p=288° z=47"
(30 x=6T" p= U2 =35
(4] x o= RBEY w=92° z=871"

Iq.__cl “'r'llﬁ
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HISTORY

146, Who constructed the Quint Miowr

(17 Cuibadddindsibak 2} Babur

iir Llumayun 4% Akhir
147, The battle of Plassey waus fought between

(1Y Tipo Solisn amd the British {21 Muzailac Jang and the British

(3)  Sirwjuddaola und the Leitish (4} The Mughal emperor and the British
14%. The Scrond World War was broke out in

flp 1914 {21 1924 {37 1939 (4 1929
Yy, Mame the [ullewing constal district in given Map.

(1 e

(2} Krishoa
£3)  Prakasoam
{4y Visakhapzhwon

15

Patch the tollowing,

1 ansabdar ap  Huereditaey chict

iy Akhar B} Revenoe assignoment
iy Jagirdar @1 Sulh-i-Ful

vy Samindar 4 Rewk

{11 = i=-¢  ii-b vea
(210 i-a b (uitd e
(31 Ni-ap [il-d _ifec ivED
4y 1-%  dr-¢ ili-d v-a

. Which purt of an inscriplion is called “Prashast’

117 mvagation part (2] half-a-pan

(3] Third parf (43 Endolthe part
. Kitab-Al-l Lind the arabic book was written by

(1% Al-Bium {21 [aes

{31 Marco Polo id1  Abdul Razzak
1o 1190 A1 & Mew Kingdonm was establizhed in Delhi by

(11 Tughlugs (X Sualtanz (3% Muoghals (4} Luwlhis
i Krishiadevaraya ruled foom

fly 1336 Al- 135TAl (27 1324 Al - 1542 A

{31 1585AD-1614 AT (4] L3I AD - 1229 Al

3, I'he first Mogha! emperor wag

(1} Babur (23 Akbar {33 Hwnayn (4} Shahjaln

30'C “'F'll'ﬁ
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134

157,

GEOGRAFITY

A1 Inis a shiny mineral

B1 o Iuis used io eleclrical industey

) It contes in thin livers

Dy I1is 8 non-condoctor of clectocitly

The above starements are related to Lhis rmimetal

(1} Bauxite (3 bl

(3}  Asbestos {41 Feldspar

Mateh the fol lowing.

il June2l al  Suneon the Fouator

1) Maech 21 B Sunmen e Byuator

Lil)  LDecember 22 £} %unonthe Tropic of Cancer
vy September 23 di Sonan the Tropic of Capricem

by 1-c ii-a dil-4d av-h
{2v i-a  di-¢  di-d -k
{31 1-a =1 am=-d oav-c
(4% i=-¢ di-b  ii-a iv-d

. Mr Bavi wants tedanowathe bauhdaeeof Aadhea Pradesh, Which of the Following map dovs

hzlp him?

A Insha - 'olitical map

Hy  India - Physical map

i India - Contour lines mup

{17 [A}ouly (2} {B}only

i3 (Cronly (43 {Byand 1Cyonly

155, Thersare two main groops relerred Lo a5 Eskimes : Inuitand Yupik, “Touit™in their angnags means

A Lhe prople

B) the onigpinaies

£} Snosw shoc-nctter

(1 (Alonly {2y (Byonly

(30 (Cyonly Ay (A end (B)only

c V-116




NMMS(E) C

L0

Beliel Mealuies
b n S

L this picture A’ telers 1o
{17 Trench

(21 Decepsea plun

i3 Continental shelt
(4] Continental slope

161, The anzle at whicl the ravs {810 on the earth’s surface is called
{1}  insolation {2y solar radistion
{3y eanbrwdiation {47 angle ofincidence

L62. E‘ﬂ el Safaurvey ol Tadia, = * this conventional
GlassREsn
[I] fauit eseried (3} =N - (4} Broken ground

143, “Fine® forests usuolly found inthis reglon
1) Equatodal region (X}  Hioalavas
{3} Coastal Andho Pradesh {4y  Ravalasesma

a—-

L&, [he hizhest peak in Africa is Mount Eilimanjaro in
{11 TanZama {2} Egvpl {31 Ethiora {4) WNigeria

1635, From Monh tw Soulh which one of the following is ibe correct sequence of the given overs
A) Magavali
By  Vamsadhar
Cy Godavan
[}  Krishna
(1) ABCD {2} B,A.C.D {» A RTDC {4y B,a.TxhC
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166,

17

18,

POLITICAL SCIENCE

The con<titulivn of India entrusted the respunsibility of condueting elections in lodia to
(ly  The Supreing Court

f2y The Election Commission

{1} Central Govenument

{41 The State Govemmen

Mawh ihe following.

i} Sovereign a)  Governoment will not favour any religion

i1 Republic bl Peaple have the supreme right to make
decisions

it Tratcimity ¢} Head ol the State is an clected persan

wh o Secular 4y People should live Tike brothers aned sisters

{1y i-b  qi-¢  in-d iv-2
i) 1-2 H-d wi-b iv-c
i3 i-¢ U-boodid-a -4
(#1 i-d  di-¢ ni-b ved

“Ifpulitics weswill haveegualin and i sgeial afdeconnmicligws i b incyualily, In
pulitics we will b recGgnisiig the principle of Ofie man pog vele and ohc volv one value.
[o our gocial and coonomic Ue, we shall, By rea®bo ot Gur Socia] Ind econmnic struclure,
continue W deiy the principle of one man one value, How long shall we sontinue to live
this life uf contradictions? ow benz shall we continue to deny equality in our social and
ceofiontic Life? 10 we continue o deny it For long, we will de soonly by paiting our political
demoeracy in peril™.

Whiose statenienil Was it

117 Mahatma Gandhyi {21 D BER Ambedkar

[3) Jawaharlal Metwu (41 Dir. Babu Rajendra Prosacd

1G9,

In Inctia any law relating 10 Money and Banking can only be made by
i1} Parliament

{2y Reserve Hank of India

{31 Election Cumrmission of India

(47 World Bank
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170, Ciovermunent o Andhra Pradesh enacted the Andhra Pradesh water, Land and Trees Frotestion

Aclin
(1% 1902 (2p 1985
(3 1950 {4y 22
171, The deafling comnmitiee chair persan ol the lodian Constitution {5
(b1 L BUR.Ambediar (21 Dr.Babu Eajendra Prasad
(3y Tir Faker Hussen {4}  Dr. Farukh Abdullah

|72, Wha is the [nllowing person is most known for his lleds to educaie women and lower

castes a5 well 23 the niasses
(11 Savitribal Phule

(2} TPerivar E.V, Eama Swari
(3} Sri Marayuna Guro

4y hvoticas Govindrao Phule

173, The most papular folk goddess of Andhea Pradesh 1s

{11 Pochammaz (2} Maisaomma
(3} Lianparmms {4y Yellammz
| 74, Il Governof ol the State 15appointal BY
{17 Prime Minister {21 ChictMinister
{11 President {4} Chief Tusticc of Supreme Court

175, The tirst Tnion Law Minister of Independent India is
(1] Dwe L8R Ambedkar {2y St Vijaya Lakshou Pandin
{3} SordorVallabhbhai Patel {41 Subhash Chaniea Bose

34-C
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174.

177,

175,

175

ECONOMICS
Inwhich posilion Indin is the largest produger of medicines in the world,
(1 1 {2y 2 {3y 3 {4y &
He dzvised a method of laying road using Broben stones.
{11 Boulton {2} Greorge Sephenson
(31 John Loudon bc.Adam (4} Jamwes Wall

Arrange the following sages of paper-inaking process in cormesl onder.
Al Cuoring

By Pressing, drving and rolling

Ty Chipping

[} Spreading the pulp

E) Making of wood pulp

1 %0,

{13 CEILB.A {2y ABC.IDLL
[:3) C!:Dﬂ E:E':--A- I:q} H=E1D=H=C
In the Mauryan Pericd “Pana” was the standard vurrency. It was made of
(1} gGald £2)  Silver
{3} Eronze {84 = oppes
Heney Tord started this method of production to produce inore ears quiclly.
{17 Combined Hacvester {21 Assemblyling
{33 Barter system (4] Factory system
0300

35U
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SPACE FOR ROUGH WORK
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